
  

  

 

 

 

Model Multiple Choice Questions:

IE-2 Finance (Revised) and Appropriation Accounts

Question Number:1

Which of the following Statement shows the detailed accounts of revenue by minor head of accounts?  
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A

Statement No.10  
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B

Statement No.11  
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C

Statement No.14  
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D

None of the above  
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Ans B

Question Number:2

The investments shown in Statement No. 14 should be tallied with the relevant bookings depicted in 

which Statement?  
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A

Statement No. 11  
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B

Statement No. 13  
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C

Statement No. 10  
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D

All of the above  
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Ans B



 

 

Question Number:3

As per MSO (A&E) Vol – II, the comments on excess/saving in the Appropriation Accounts are to be 

drafted such that they are understood by ________.  
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A

Speaker  

 

5.$? ���� 

B

Finance Department  
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C

Layman  
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D

Audit Office  
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Ans C


